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KoHTponupyiTe

ux notpeénexHue!

conb <9

r/cyTkn*

caxap <20

r/cyTkn®
nnn <10 % KanopnnHoCTU

Xupbl <65

r/cyTkn*
nnm <30 % KanopunHoOCTA

HACbIWEeHHbIe <20
)l(“ pbl r/cyTkn*
nnn <10 % KanopunHoCTU

WHUpbI 2,

nnm <1 % KanopunHocTn

* pekoMeHayemble YpOBHM
CYyTOYHOrO MOCTyMAeHNs
KPUTNYECKN 3HAYNMBIX
MNyiLLEeBbIX BeLLeCTB 13 pacyeTa
Ha paumoH 2 000 kkan




3popoBoe-nuTaHue.pé

300pPOBbS:

ApTepnanbHoe gasfieHue

120/80

MM pPT. CT.

®pykTOB 5 nopuui
1 oBoOLLEeN B /leHb

>10 000

Laroe B A€Hb

<80

cM (Tanmsa X)

<94

c™M (Tanma M)

VHaekc maccel Tena (MMT)

o 18,5,25

Bec (Kr)

®dopmyna UMT =

Py pocT (m?)
3aknagka, Tmpax 51 Tbic. 3k3.
PesepanbHblil NpoekT «PopMmnpo-
BaHVe CUCTeMbl MOTUBALIMWN FPax-
JlaH K 340pOBOMY 06pasy XWU3HU,
BK/IOYas 340pOBOe NUTaHne 1 oT-
Ka3 OT BPeAHbIX MPUBbIYEK»

[LEMOrPAGHUS




